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WEST BENGAL STATE UNIVERSITY 

B.A. Honours Part-III Examination, 2021  

POLITICAL SCIENCE 

PAPER: PLSA-VIII 

Time Allotted: 2 Hours Full Marks: 50 

The figures in the margin indicate full marks. pািnক সীমার মধ°s সংখ°ািট পূণ�মান িনেদ�শ কের।  
Candidates should answer in their own words পরীkাথ�ীরা িনেজর ভাষায় যথা সmব শbসীমার মেধ° 
and adhere to the word limit as practicable. উtর কিরেব। 

1. Choose the correct alternative from the following:
িনmিলিখত সিঠক িবকlিট েবেছ িনেয় েলেখাঃ 

1×5 = 5

(a) The father of Public Administration is— 
(i) Woodrow Wilson (ii) L.D. White (iii) Taylor  (iv) Gullick 
জন pশাসেনর জনক হেলন— 
(i) উে»া উইলসন  (ii) এল.িড. েহায়াইট (iii) েটলর   (iv) গািলক 

(b) CAG is appointed under the provision of Article __________ of the Constitution. 
(i)  147  (ii) 148 (iii) 149 (iv) 150 

 সংিবধােনর __________ নং ধারা বেল CAG িনেয়ািজত হন। 
(ii) ১৪৭   (ii)  ১৪৮  (iii) ১৪৯  (iv) ১৫০  

(c) Who among the following described Bureaucracy as ‘Rational-Legal’? 
(i) Max Weber   (ii) Woodrow Wilson  
(iii) L.D. White   (iv) H. Simon 
এেদর মেধয্ েক আমলাতntেক যিুk ও আইন-িনভ�র বেলিছেলন ? 
(i) ময্াk ওেয়বার  (ii) উে»া উইলসন (iii) এল.িড. েহায়াইট (iv) এইচ. সাইমন 

(d) JNNURM is associated with— 
(i) Rural Poverty Alleviation (ii) Urban Poverty Alleviation  
(iii) Both   (iv) None 
JNNURM এই িবষয় এর সেñ যুk— 
(i) gামীণ দািরdয্ দূরীকরণ (ii) শহর দািরdয্ দূরীকরণ  
(iii) উভয়  (iv) েকানিট নয় 

(e) The concept of salacracy was presented by—
(i) Gladden  (ii) Weidner (iii) Riggs (iv) Weber 
‘Salacracy’–র ধারণািট উপsাপন কেরন—  
(i) gয্ােডন (ii) ওেয়ডনার (iii) িরগস (iv) ওেয়বার 
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2. Answer any five questions from the following within 50 words each:
িনmিলিখত েয-েকােনা পাঁচিট  pেűর উtর pিতিট ৫০ শেbর মেধয্ দাওঃ 

2×5 = 10

(a) What is the main significance of the Minnowbrook Conference I? 
pথম িমেনাbrক সেmলেনর pধান তাৎপয� িক ? 

(b) What are the main qualities of Leadership? 
েনtেtর pধান gণgিল িক িক ? 

(c) What are the features of Public Policy? 
জননীিতর �বিশŶয্gিল িক ? 

(d) What do you mean by hierarchy? 
kেমাc sরিবনয্াস বলেত িক েবােঝা ? 

(e) What is meant by coordination? 
সমnয় বলেত িক েবাঝায় ? 

(f) Mention two functions of Cabinet Secretary. 
কয্ািবেনট সিচেবর dিট কাজ উেlখ কেরা। 

(g) What do you mean by deficit budget? 
ঘাটিত বােজট বলেত িক েবােঝা ? 

(h) What is NREGS? 
NREGS কােক বেল ? 

(i) What is transparency? 
scতা কােক বেল ? 

(j) What is policy implementation? 
নীিতpেয়াগ কােক বেল ? 

(k) Point out the composition PAC. 
সরকারী গািণিতক কিমিটর গঠন িচিhত কেরা। 

(l) Mention two functions of CVC . 
CVC –এর dিট কাজ উেlখ কেরা। 

(m) What do you mean by e-governance? 
�বdয্িতন শাসন-pিkয়ার ধারণা বলেত িক েবােঝা ? 

(n) What do you mean by ‘POSDCORB’? 
‘POSDCORB’ বলেত িক েবােঝা ? 

(o) Mention two functions of UPSC. 
UPSC-র dিট কােজর উেlখ কেরা। 

  
3. Answer any three questions from the following within 100 words each: 

িনmিলিখত েয-েকােনা িতনিট  pেűর উtর দাও pিতিট ১০০ শেbর মেধয্ঃ 
5×3 = 15

(a) What do you mean by Good-governance? 
সু-শাসন বলেত িক েবােঝা ? 

(b) What do you understand by public-private partnership? 
সরকারী-েবসরকারী অংশীদািরt বলেত িক েবােঝা ? 

 

(c) Write a note on the theory of participative management. 
অংশgহণমূলক বয্বsাপনা তtt সmেn একিট টীকা েলেখা। 
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(d) Write a note on the concept of control and coordination. 
িনয়ntণ ও সমnেয়র ধারণা সmেক� একিট টীকা েলেখা। 

(e) What are the major functions of Public Accounts Committee? 
সরকাির িহসাব কিমিটর pধান কাজgিল িক ? 

(f) Explain the significance of budget in Economy. 

অথ�নীিতেত বােজেটর grt বয্াখয্া কেরা। 
(g) Write a note on the functions of UPSC. 

েকndীয় রাŷ kতয্েকর কায�াবলী সmেক� একিট টীকা েলেখা। 
(h) Analyse the concept of Human Resource Development Management. 

মানব সmদ উnয়ন পিরচালেনর ধারণািট িবেųষণ কেরা। 
(i) Write a note on the utility of NREGS in alleviation of rural poverty. 

gামীণ দািরdয্ দূরীকরেণর েkেt NREGS –এর উপেযাগীতা সmেn একিট টীকা েলেখা। 

(j) What are the basic tenets of 73rd Amendment Act, 1992. 
৭৩তম সংিবধান সংেশাধনী আইন, ১৯৯২-এর মুখয্ �বিশŶয্gিল িক ? 

  

4.   Answer any two questions from the following within 300-350 words each: 

িনmিলিখত েয-েকােনা dিট  pেűর উtর pিতিট ৩০০-৩৫০ শেbর মেধয্ দাওঃ 

10×2=20

(a) Discuss the Nature and Scope of Public Administration. 
জন-pশাসেনর pkিত ও পিরিধ আেলাচনা কেরা। 

(b) Point out the differences between characteristic features of Private Administration 
with those of Public Administration. 
েব-সরকারী pশাসন ও জন pশাসেনর চািরিtক �বিশŶয্gিলর মেধয্ পাথ�কয্ িনেদ�শ কেরা। 

(c) Explain the Scientific Management Theory of Fredrick Taylor. 
েÅডিরক েটলেরর �বjািনক বয্বsাপনা তtt িবেųষণ কেরা। 

(d) How do you explain the importance of informal communication system in an 
organization? 
সংগঠেন আনুŸািনক েযাগােযাগ বয্বsার grt tিম িকভােব বয্াখয্া করেব ? 

(e) Discuss the models of public policy making. 
জননীিত pণয়েনর মেডলgিল সmেক� আেলাচনা কেরা। 

(f) Discuss the role and functions of National Development Council. 
জাতীয় উnয়ন পষ�েদর কায�াবলী ও ɛিমকা আেলাচনা কেরা। 

(g) Discuss the composition and functions of State Public Service Commission. 
রাজয্ রাŷkতয্ক কিমশেনর গঠন ও কায�াবলী আেলাচনা কেরা। 

(h) Critically analyse the role of Cabinet Secretary in the Union government. 

েকndীয় সরকােরর কয্ািবেনট সিচেবর ɛিমকািট সমােলাচনা সহ িবেųষণ কেরা। 
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(i) Write a note on the role of Lokpal in India. 

ভারেত েলাকপােলর ɛিমকার উপর একিট টীকা েলেখা। 

(j) Write a critical essay on the concept of Development Administration as proposed 
by Fred Riggs. 

েÅড িরগেসর dারা psািবত উnয়ন pশাসেনর ধারণা সmেn একিট সমােলাচনামলূক িনবn েলেখা। 
  

 N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp 
to their own respective colleges on the same day / date of examination within 1 hour after 
end of exam. University / College authorities will not be held responsible for wrong 
submission (at in proper address). Students are strongly advised not to submit multiple 
copies of the same answer script.  

 
——×—— 
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WEST BENGAL STATE UNIVERSITY 

B.A. Honours Part-III Examination, 2021  

PHILOSOPHY 
PAPER: PHIA-VIII 

Time Allotted: 2 Hours Full Marks: 50 
The figures in the margin indicate full marks. pািnক সীমার মধ°s সংখ°ািট পূণ�মান িনেদ�শ কের।  
Candidates should answer in their own words পরীkাথ�ীরা িনেজর ভাষায় যথা সmব শbসীমার মেধ° 
and adhere to the word limit as practicable. উtর কিরেব। 

All symbols are of usual significance. 

GROUP-A
(Full Marks-25) 

িবভাগ-ক 
(পূণর্মান-২৫) 

Answer any one Optional Paper 
েয-েকােনা একিট  ঐিcক পেtর উtর দাও 

 (Vedāntasāra / েবদাnসার) 

Answer Question No. 1 and any one from the rest within 600 words  
১ নং pű ও অপর েয-েকােনা একিট  pেűর উtর ৬০০ শেbর মেধয্ দাও 

1. Answer any two questions from the following within 150 words each: 
িনmিলিখত েয-েকােনা dিট  pেűর উtর pিতিট  ১৫০ শেbর মেধয্ দাওঃ 

5×2 = 10

(a) What is meant by ‘Vedānta’? 
‘েবদাn’ বলেত কী েবাঝায় ? 

(b) What is meant by Pañcikaraṇa? 
পĀীকরণ বলেত িক েবাঝায় ? 

(c) What is ‘Nitya’ and ‘Naimittika’ karma? 
িনতয্ ও �নিমিtক কমর্ িক ? 

(d) Distinguish between Jivanmukti and Videhamukti. 
জীবnুিk ও িবেদহ মুিkর মেধয্ পাথর্কয্ কেরা। 

(e) Distinguish between a Vākya and a Mahāvākya. 
বাকয্ ও মহাবােকয্র মেধয্ পাথর্কয্ িনেদর্শ কেরা। 

(f) Distinguish between Parināma and Vivarta. 
পিরণাম ও িববেতর্র মেধয্ পাথর্কয্ কেরা। 

(g) Define the Swarupa Laksaṅa of Brahman.  
bেhর srপ লkণ িনেদর্শ কেরা।  

(h) What is manana? What is its necessary? 
মনন িক ? মনেনর pেয়াজন কী ? 
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2.   What is meant by ‘Tātparya’? Explain the six-fold ways of ascertaining Tātparya 
with examples. 
‘তাৎপযর্’ বলেত িক েবাঝায় ? তাৎপযর্ িনrপেণর ষড়িবধ উপায় দৃŶাn সহেযােগ বয্াখয্া কেরা।  

3+12

  
3.   Why does Sadānanda Yogindra describe Ajñana as ‘Yatkiñcit’ in Vedāntasāra? 

Explain its significance. If Ajñāna is regarded as ‘Yatkiñcit’, then how can it be 
established by him? 
সদানn েযাগীnd ‘েবদাnসার’ gেn েকান ্  তাৎপেযর্ অjানেক ‘যৎিকিĀৎ’ rেপ বণর্না কেরেছন ? অjান 
‘যৎিকিĀৎ’ হেল অjােনর িসিd িতিন কীভােব pদশর্ন কেরেছন ? 

5+10

  
4. Discuss how the author of Vedantasāra refute the Cārvāka view that the ‘Self is 

identical with the body’. 
‘েদহই আtা’ —  চাবর্াকেদর এই মত েবদাnসার gেnর রচিয়তা িকভােব খčন কেরেছন ? 

15

  
5.  (a) Distinguish between Nimitta Kāraṇa and Upādāna Kāraṇa. 

িনিমt কারণ ও উপাদান কারেণর মেধয্ পাথর্কয্gিল িক িক ? 
5

(b) Explain after Vedāntasāra, how Iśvara can be regarded as both Nimitta and 
Upādāna Kāraṇa of Jagat. 
েবদাnসার gn অনুসাের ঈƬেরর িনিমেtাপাদনt িকভােব উৎপn হয় বয্াখয্া কেরা। 

10

  

 (Ryle / রাইল) 
 Answer Question No. 1 and any one from the rest within 600 words  

১নং pű ও অপর েয-েকােনা একিট  pেűর উtর ৬০০ শেbর মেধয্ দাও 

1. Answer any two questions from the following within 150 words each: 
িনmিলিখত েয-েকােনা dিট  pেűর উtর pিতিট ১৫০ শেbর মেধয্ দাওঃ 

5×2 = 10

(a) Explain briefly Descartes’ theory of mind-body interaction. 
েদকােতর্র েদহ-মন িমথিskয়াবাদিট সংেkেপ বয্াখয্া কেরা। 

(b) What is dispositional statement? Explain with an example.
pবণতা সূচক বাকয্ কােক বেল ? একিট উদাহরণ সহেযােগ বয্াখয্া কেরা। 

(c) Discuss Ryles’ theory of self. 
আtা সmেকর্ রাইেলর তttিট আেলাচনা কেরা। 

(d) Discuss, in brief, the notion of ‘retrospection’ in relation to self-knowledge. 
আt-jােনর েpিkেত ‘‘পůাতদশর্েনর’’ মতবাদিট আেলাচনা কেরা। 

(e) What is meant by ‘single-track’ and ‘multi-track’ disposition?
একমুখী ও বhমুখী pবণতা বলেত কী েবাঝায় ? 

(f) What, according to Ryle, is the origin of the ‘category mistake’? 
রাইেলর মেত েËণী িবÇেমর উৎস কী ? 

(g) What are the two types of explanation according to Ryle? Discuss. 
রাইেলর মেত dই pকার বয্াখয্া কী কী ? আেলাচনা কেরা। 
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(h) Why does Ryle claim to have discussed the logical geography of ‘mind’ in The 
Concept of Mind? 
রাইল েকন দািব কেরন েয The Concept of Mind gেn িতিন ‘মন’-এর েযৗিkক মানিচt িনেয় 
আেলাচনা কেরেছন ? 

  
2. Enumerate the nature of consciousness after Ryle.   

রাইলেক অনুসরণ কের েচতনার srপ আেলাচনা কেরা।   
15

  
3. How can the concept of volition be explained without admitting a mental 

substance? 
েচতনdবয্ sীকার না কেরও pবৃিtর ধারণা কীভােব বয্াখয্া করা যায় ? 

15

  
4. What does Ryle mean by ‘intellectualist legend’?

রাইল ‘েবৗিdক rপকথা’ বলেত কী বুিঝেয়েছন ? 
15

  
5. Distinguish between ‘knowing how’ and ‘knowing that’. Is intelligence a kind of 

knowing how? 
েকৗশল jান ও বাচিনক jােনর মেধয্ পাথর্কয্ কেরা । বুিd িক েকৗশল jান ? বয্াখয্া কেরা। 

10+5

  

 (Practical Vedānta / বয্বহািরক েবদাn) 

 Answer Question No. 1 and any one from the rest within 600 words  
১ নং pű ও অপর েয-েকােনা একিট  pেűর উtর ৬০০ শেbর মেধয্ দাও 

1. Answer any two questions from the following within 150 words each: 
িনmিলিখত েয-েকােনা dিট  pেűর উtর pিতিট ১৫০ শেbর মেধয্ দাওঃ 

5×2 = 10

(a) What is the necessity of self-confidence as an ideal? 
আtিবƬাসrপ আদেশর্র pেয়াজনীয়তা কী ? 

(b) What is ‘Aporakṣānubhuti’ and how can it be attained as per Practical Vedānta? 
‘অপেরাkানুɛিত’ কী এবং pােয়ািগক েবদাn অনুসাের তা লােভর উপায় কী ? 

(c) What is Īśvara according to Vedānta? Discuss briefly after Vivekānanda. 
েবদােnর ঈƬর কী ? িবেবকানnেক অনুসরণ কের সংেkেপ বয্াখয্া কেরা। 

(d) Is Advaitavāda contradictory to Dvaitavāda? 
অৈdতবাদ কী �dতবােদর িবেরাধী ? 

(e) Briefly explain after Swamiji’s Practical Vedānta, ‘the ways of winning weakness 
(Dūrvalatā)’. 
sামীিজর pােয়ািগক েবদাn অনুসরণ কের ‘dবর্লতা জয় করার উপায়’ সmেn সংেkেপ বয্াখয্া কেরা। 

(f) Explain the significance of Practical Vedānta. 
বয্বহািরক েবদােnর grt বয্াখয্া কেরা। 

(g) How are Ātmavāda and Nairātmavāda reconciled in Advaita Vedānta? 
অৈdত েবদােn কীভােব আtবাদ ও �নরাtবােদর মেধয্ সমnয় করা হেয়েছ ? 
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(h) Why do the notion of ‘Eternal Heaven’ and ‘Eternal Hell’ stand self-contradictory 
according to Practical Vedānta of Swami Vivekānanda? 
sামী িবেবকানেnর বয্বহািরক েবদােn ‘অনn sগর্’ এবং ‘অনn নরেকর’ ধারণােক েকন s-িবেরাধী বলা 
হেয়েছ ? 

  
2. How can Vedāntic theory be the basis of ethics? Explain after Swami 

Vivekānanda. 
কীভােব �বদািnক তtt �নিতকতার িভিt হেত পাের ? িবেবকানnেক অনুসরণ কের আেলাচনা কেরা। 

15

  
3. How can self-confidence as an ideal bring maximum good in human life? Explain 

after Practical Vedānta.  
আtিবƬাসrপ আদশর্ কীভােব মানব জীবেনর সবর্ািধক কলয্াণ সাধন করেত পাের ? বয্বহািরক েবদাn 
অনুসরণ কের বয্াখয্া কেরা। 

15

  
4. What is the real nature of man? Explain after Practical Vedānta. How is the 

concept of self-sacrifice deduced from the nature of man?  
বয্বহািরক েবদােn মানুেষর pkত srপ কীভােব বিণর্ত হেয়েছ ? মানব pkিত েথেক আtতয্ােগর ধারণা 
িকভােব িনঃসৃত হেয়েছ ? 

10+5

  
5. Explain, the ‘idea of Universal Religion’, after Vivekānanda’s Vedānta Philosophy. 

িবেবকানেnর েবদাn অনুসরণ কের ‘িবƬজনীন ধেমর্র আদশর্’, বয্াখয্া কেরা। 
15

  
 (Dharma : Rabindranath Tagore / ধমর্ : রবীndনাথ ঠাkর) 

 Answer Question No. 1 and any one from the rest within 600 words  
১নং pű ও অপর েয-েকােনা একিট  pেűর উtর ৬০০ শেbর মেধয্ দাও 

1. Answer any two questions from the following within 150 words each: 
িনmিলিখত েয-েকােনা dিট  pেűর উtর pিতিট  ১৫০ শেbর মেধয্ দাওঃ 

5×2 = 10

(a) Explain briefly Tagore’s concept of beauty. 
রবীndনােথর েসৗnযর্তtt সংেkেপ বয্াখয্া কেরা। 

(b) Discuss in brief, after Rabindranath Tagore the concept of Brahma-Vihāra.  
রবীndনাথেক অনুসরণ কের, bhিবহােরর ধারণািট আেলাচনা কেরা। 

(c) What does Tagore mean by ‘Freedom’? Discuss. 
‘sাধীনতা’ বলেত রবীndনাথ কী বুিঝেয়েছন ? আেলাচনা কেরা। 

(d) How does Tagore explain the Upanishadic dictum ‘Know Thyself’?  
‘আtানং িবিd’ —  এই উপিনষদ বাকয্েক রবীndনাথ কীভােব বয্াখয্া কেরেছন ? 

(e) How does Rabindranath explain the significance of human wish (manuṣer ichhā) 
through human prayer? Discuss following his essay ‘Prārthanā’. 
রবীndনাথ কীভােব pাথর্নার মেধয্ িদেয় মানুেষর ইcার তাৎপযর্ বয্াখয্া কেরেছন ? তাঁর ‘pাথর্না’ pবn 
অনুসরণ কের আেলাচনা কেরা। 
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(f) Can we limit the ānanda of Iśvara? Discuss briefly following the essay Duḥkha. 
আমরা িক ঈƬেরর আনnেক সীমাবd করেত পাির ? ‘dঃখ’ pবn অনুসরণ কের সংেkেপ আেলাচনা 
কেরা। 

(g) “Actually acceptance and rejection, bondage and renunciation — both are equally 
true.” Explain in brief after Tagore. 
‘‘বstত gহণ এবং বজর্ন, বnন এবং �বরাগয্, dিটই সমান সতয্’’ — রবীndভাবনা অনুসাের সংেkেপ 
বয্াখয্া কেরা। 

(h) How does patriotism become an obstacle of humanity? Discuss briefly after 
Rabindranath.  
েদশেpম কীভােব মানবতার অnরায় হয় ? রবীndনাথেক অনুসরণ কের, সংেkেপ বণর্না কেরা। 

  
2. “Truth manifests from bliss and bliss manifests from truth.” Explain after 

Rabindranath. 
‘‘আনn হইেতই সেতয্র pকাশ এবং সেতয্র pকাশ হইেতই আনn’’ —  রবীndনাথ অনুসরেণ বয্াখয্া 
কেরা।  

15

  
3. “Uttiṣthata! Jāgrata!” — Explain and analyse the above statement following 

Tagore’s essay ‘Manuṣyatva’.  
‘‘উিtŸত! জাgত!’’ — রবীndনােথর ‘মনুষয্t’ pবn অনুসরেণ উপেরর বাকয্িট বয্াখয্া ও িবেųষণ 
কেরা। 

15

  
4. Does Tagore corroborate with the Traditional Indian Philosophical view that we 

should treat pleasure and pain equally? Discuss elaborately the significance of 
pain in Tagore’s Philosophy. 
িচরাচিরত ভারতীয় দশর্েন সুখ ও dঃখেক েয সমানভােব েদখার কথা বলা হেয়েছ রবীndনাথ িক তা 
সমথর্ন কেরন ? রবীndনােথর দশর্েন dঃেখর তাৎপযর্ িবsািরতভােব আেলাচনা কেরা। 

5+10

  
5. Which one is the day of festivity for human being? Explain elaborately after 

Tagore’s essay ‘Utsaber Din’.   
মানুেষর উৎসেবর িদন কেব ? রবীndনােথর ‘উৎসেবর িদন’ pবn অনুসরেণ িবsািরত আেলাচনা কেরা। 

15

  

 (Logic / তকর্িবদয্া) 

 Answer Question No. 1 and any one more from the rest  
১নং pű আবিশয্ক, এছাড়াও েয-েকােনা একিট pেűর উtর দাও 

1. Answer any two questions from the following:
িনmিলিখত েয-েকােনা dিট  pেűর উtর দাওঃ 

5×2 = 10

(a) Prove that there is one and only one empty set. 
pমাণ কেরা েয শূনয্ েËণী একিট এবং েকবলমাt একিট। 

(b) Explain the difference between collective and distributive application of the term 
with example. 
উদাহরণসহ পেদর সমিŶবাচক ও বয্িŶবাচক pেয়ােগর মেধয্ পাথর্কয্ িনrপণ কেরা। 



B.A./Part-III/Hons./PHIA-VIII/2021 

3089 6

(c) Explain the relation of transitive, intransitive and non-transitive with example.  
সংkামক, িবসংkামক এবং অসংkামক সmn উদাহরণ সহকাের বয্াখয্া কেরা। 

(d) What are the domain, counter domain and field of the relation of being a father? 
িপতা হওয়ার সmnিটর domain, counter domain ও field িনণর্য় কেরা। 

(e) Explain the difference between BA«  and BAª .  

উদাহরণসহ BA«  এবং BAª -এর পাথর্কয্ কেরা। 
(f) In the following example, decide which of the following statements are true. 

িনmিলিখত দৃŶাnিটর েkেt িনেmর েকান িববৃিতিট সতয্ তা িনণর্য় কেরা। 
 BA±  BA°  BA  
 A = the set of positive integers 
 B = the set of positive and negative integers. 
 A = সদথর্ক সংখয্ার েসট 
 B = সদথর্ক ও নঞথর্ক সংখয্ার েসট। 

(g) Is the following argument valid? Give reasons for your answer: 
িনেmাk যিুkিট িক �বধ ? েতামার উtেরর sপেk যুিk দাওঃ 
 Tomcats are cats. 
 Cats are a species. 
 ? Tomcats are a species. 

 hেলা িবড়াল হল িবড়াল। 
 িবড়াল হল একিট pজািত। 
 ? hেলা িবড়াল হল একিট pজািত। 

(h) Discuss briefly the paradoxes of C.I. Lewis’s theory regarding Entailment. 
pসিk সmেকর্ C.I. Lewis –এর মতবােদর kটাভয্াসgিল সmেকর্ আেলাচনা কেরা। 

(i) Show for the truth-tree method can be used to test consistency of statements. 
সতয্শাখী পdিতর সাহােযয্ িকভােব বােকয্র সংগিত িনণর্য় করা যায় েদখাও। 

 

2.  (a) Translate the following sentences into set theoretic notation: 
িনmিলিখত বাকয্gিলেক েসট িলিপেত বয্k কেরাঃ 
(i) Apples and oranges are fruits. 
 আেপল ও কমলােলব ুহেলা ফল। 
(ii) Men are numerous. 
 মানুষ অসংখয্। 
(iii) All coffee drinkers drink either tea or wine. 
 কিফ পানকারীরা হয় চা পান কের অথবা সুরা পান কের। 

3

(b) Letting }1{ A , }}1{,1{ B , }2,1{ C , }}1{,2,1{ D , }}}1{,1{,1{ E for the 
following: 
িনেmাkgিল িনণর্য় কেরাঃ 
(i) BDC ~)( «   

(ii) )~()}({ CEDA ª« .   

2
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(c) In each of the following examples, decide which of the following statements are 
true: 
িনেmাk দৃŶাngিলর েkেt েকান  ্ বচনgিল সতয্ তা িনণর্য় কেরাঃ 
(1) BA± . 

Example 1 (দৃŶাn ১) 
A = the set of positive integers 
A = সকল সদথর্ক সংখয্ার েসট ্  
B = the set of all positive and negative integers.  
B = সকল সদথর্ক ও নঞথর্ক সংখয্ার েসট ্ । 
Example 2 (দৃŶাn ২) 
A = }4,Roosevelt},1{,1{  

A = },1{,1{ rজেভl, }4  
B = }Churchill,Roosevelt},1{,1{  

B = },1{,1{ rজেভl, চািচর্ল}  

2+2

(d) Let A = the first three small letters of English alphabet, 
(i) What are all the subsets of A? 

(ii) What are all the non-empty subsets of A?  

ধরা যাক A = ইংেরজী বণর্মালার pথম িতনিট েছাট হােতর অkর 
(i) A েসেটর সব উপেসটgিল িক িক ? 

(ii) A েসেটর সব অ-শূনয্ উপেসটgিল িক িক ?  

2+2

(e) What is Universe of discourse? 

pসñ িবƬ কােক বেল ? 

2

  

3.  (a) Test the validity of the following arguments by Venn diagram.  

েভনিচেtর সাহােযয্ যুিkিটর �বধতা িবচার কেরা। 
 All witnesses are prejudiced. 

 Some witnesses are not liars. 
 ?Some liars are not prejudiced. 

 সকল সাkীরাই kসংsারাcn। 
 িকছু সাkী িমথয্াবাদী নয়। 
 ?িকছু িমথয্াবাদী kসংsারাcn। 

5

(b) Test by Venn diagram whether the following propositions are consistent or not. 
েভনিচেtর সাহােযয্ িনেmাk বাকয্gিল সংগিতপূণর্ িকনা বেলা। 
 B ª C = / 
 (A ª C) ~ B = / 
 (A ª B) ~ C = / 
 (A ª B) « (A ª C) « (B ª C)  � / 

5
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(c) }2,1,PinckneyMadison,,1,1{},2,PinckneyMadison,{ 〉〈〉〈〉〈  RA . 
Classify the relation according to the properties they do or do not have 
(e.g. reflexive, symmetric, not antisymmetric, or transitive etc.) 
ধেমর্র িভিtেত এই সmn িবচার কেরা। 

5

  
4.  (a) Use truth-tree method to prove that the following statement is a tautology. 

সতয্শাখী পdিতর সাহােযয্ pমাণ কেরা েয িনmিলিখত বাকয্িট sতঃসতয্ঃ 
 )()()()[()()( GxxFxxGxFxx ��� . 

2

(b) Test the following argument for validity by truth-tree method.
সতয্শাখী পdিতর সাহােযয্ িনmিলিখত যুিkgিলর �বধতা িবচার কেরা। 
(i) Even if it rains, we will swim. Therefore, we will swim. 
 বৃিŶ হেলও আমরা সাতঁার কাটব, সুতরাং, আমরা সাঁতার কাটব। 
(ii) ).()( UTmxTmx �   
 .)(–/– xTmxUTm �?    

4+4

(c) Use truth-tree method to show that the following sentence is a logical truth. 
সতয্শাখী পdিতর সাহােযয্ িনেচর বাকয্িটর মেধয্ েযৗিkক যথাথর্তা েদখাও। 
 ),()( QxPxx ½� QxxPxx )()( �½�  

2

(d) Determine by the truth-tree method whether the following sentences are logically 
equivalent. 
সতয্শাখী পdিতর সাহােযয্ িনণর্য় কেরা িনেmাk বাকয্gিল েযৗিkকভােব সমাথর্ক িকনা। 
(i) GxxFxx )(&)( �� , 
(ii) )&()( GxFxx�    

3

  
5. Discuss fully the relation between philosophical logic and mathematical logic. In 

this context explain how modern logic is relevant to philosophy.  
দাশর্িনক যিুkিবদয্া এবং গািণিতক যুিkিবদয্ার মেধয্ পাথর্কয্ সিবsাের বয্াখয্া কেরা। এই pসেñ িকভােব 
আধুিনক যুিkিবjান দশর্েনর পেk pাসিñক তা বণর্না কেরা।    

10+5

 

 (Communist Manifesto / কিমউিনs ময্ািনেফেsা) 
 Answer Question No. 1 and any one from the rest within 600 words  

১নং pű ও অপর েয-েকােনা একিট  pেűর উtর  ৬০০ শেbর মেধয্ দাও 

1. Answer any two questions from the following within 150 words each: 
িনmিলিখত েয-েকােনা dিট  pেűর উtর pিতিট ১৫০ শেbর মেধয্ দাওঃ 

5×2 = 10

(a) Discuss in brief the concept of ‘class’ after Marx.
মাkর্েক অনুসরণ কের ‘েËণী’ pতয্য়িট সংেkেপ আেলাচনা কেরা। 

(b) Discuss in brief the notions of private property and family after Marx and Engels. 
মাkর্ ও এেñলস  ্েক অনুসরণ কের বয্িkগত সmিt ও পিরবার এই dিট ধারণা সংেkেপ আেলাচনা 
কেরা।  

(c) Why do Marx and Engels regard the proletariat as the only revolutionary class? 
Explain. 
েকন মাkর্ ও এেñলস  ্ সবর্হারা েËণীেক একমাt িবpবী েËণী বেলেছন ? আেলাচনা কেরা। 
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(d) Explain briefly Marx’s concept of alienation.
িবিcnতা বলেত মাkর্ কী েবাঝােত েচেয়েছন তা বয্াখয্া কেরা। 

   

(e) Explain after Marx and Engels, the features of the Bourgeoisie class.
মাkর্ ও এেñলেস ্ ক অনুসরণ কের বুেজর্ায়া েËণীর �বিশŶয্ বণর্না কেরা। 

(f) What is meant by ‘Capitalist Class’ according to Marx?
মােkর্র মতানুসাের পুঁিজপিত েËণী বলেত কী েবাঝায় ? 

(g) What do Marx and Engels mean by the recurrent crisis of capitalism? Discuss. 
পুঁিজবােদর েপৗনঃপুিনক সìট বলেত মাkর্ ও এেñলস  ্ কী বুিঝেয়েছন ? আেলাচনা কেরা। 

(h) What is meant by communism? Explain briefly.
সাময্বাদ বলেত কী েবাঝায় ? সংেkেপ আেলাচনা কেরা। 

  
2. “Every class struggle is a political struggle.” — Explain clearly the implications 

of this observation of Marx. 
‘‘pিতিট েËণী সংgামই হল রাজৈনিতক সংgাম।’’ — মােkর্র এই বkবয্িট বয্াখয্া কেরা। 

15

  
3. “Proletariats have nothing to lose but their chains.” — Bring out the implication 

of the statement. 
‘‘শৃðল ছাড়া সবর্হারােদর আর িকছুই হারাবার েনই।’’ — িববৃিতিটর তাৎপযর্ িবেųষণ কেরা। 

15

  
4. What are the modes of production and productive relation? Why are they called 

the bases of society?  
উৎপাদন পdিত ও উৎপাদন সmকর্ বলেত কী েবাঝায় ? েকন এেদর সমােজর িভিt বলা হয় ? 

15

  
5. How would state, as an apparatus of class exploitation, be withered away? 

Discuss after Marx and Engels. 
েËণী েশাষেনর যnt িহসােব কীভােব রাŷ একিদন অবলুp হেব তা মাkর্ ও এেñলস ্  েক অনুসরণ কের 
আেলাচনা কেরা।  

15

  

 (Practical and Environmental Ethics / বয্বহািরক এবং পিরেবশ নীিতিবদয্া) 

 Answer Question No. 1 and any one from the rest within 600 words  
১ নং pű ও অপর েয-েকােনা একিট  pেűর উtর  ৬০০ শেbর মেধয্ দাও 

1. Answer any two questions from the following within 150 words each: 
িনmিলিখত েয-েকােনা dিট  pেűর উtর pিতিট ১৫০ শেbর মেধয্ দাওঃ 

5×2 = 10

(a) Does a human acquire human rights?  
মানুষ িক মানবািধকার অজর্ন কের ? 

(b) Distinguish between active euthanasia and passive euthanasia.
সিkয় এবং িনিskয় কrণাহতয্ার পাথর্কয্ বণর্না কেরা। 

(c) Discuss the nature of Liberal feminism.  
উদারপnী নারীবােদর srপ িক ? 

(d) What is the difference between Deep and Shallow Ecology?
গভীর ও অগভীর বাst সংsােনর মেধয্ পাথর্কয্ কী ? 
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(e) What is meant by ‘racial discrimination’?
‘জািতগত �বষময্’ বলেত িক েবাঝায় ?  

(f) Is terrorism ethically acceptable? 
সntাসবাদ িক �নিতকভােব সমথর্নীয় ? 

(g) Can war be supported morally? 
যুdেক িক �নিতকভােব সমথর্ন করা যায় ? 

(h) What is meant by Gender discrimination? Does our modern society upheld 
gender discrimination? 
িলñ �বষময্ বলেত কী েবাঝায় ? বতর্মান সমাজ িক িলñ �বষময্মলূক ? 

(i) Distinguish between anthropocentric and non-anthropocentric ethics.
নৃেকিndক ও অ-নৃেকিndক �নিতকতার মেধয্ পাথর্কয্ েদখাও। 

(j) Explain whether killing animal is morally wrong.
pাণীহতয্া �নিতক িদক েথেক অনয্ায় িকনা তা আেলাচনা কেরা। 

  
2. Give an acceptable definition of suicide. State and explain the arguments against 

suicide. 
আtহতয্ার একিট gহণেযাগয্ সংjা দাও। আtহতয্ার িবপেk যুিkgিল উেlখ এবং িবচার কেরা। 

3+12

  
3. What are the ends and means of a war? Do you need any special set of moral 

standards during war?  
যুেdর লkয্ ও উপায় বলেত কী েবােঝা ? যুেdর সময় কী েকােনা িবেশষ �নিতক মানদč pেয়াজন ? 

3+3+9

  
4. What do you mean by human rights? Discuss the main characteristics of human 

rights. 
মানবািধকার বলেত কী েবাঝায় ? মানবািধকােরর মূল �বিশŶয্gিল আেলাচনা কেরা। 

3+12

  
5. What is meant by Environment? Explain, in this connection, the Nature of 

Environmental Ethics.  
পিরেবশ বলেত কী েবাঝায় ? এই pসেñ পিরেবশগত নীিতিবদয্ার srপ বয্াখয্া কেরা।

3+12

  

 GROUP-B 
(Full Marks-25) 

িবভাগ-খ 
(পূণর্মান-২৫) 

6. Write an essay on any one of the following topics of Indian Philosophy: 
(Within 1500 to 2000 words) 

ভারতীয় দশর্েনর িনmিলিখত িবষয়gিলর মেধয্ েয-েকােনা একিট িবষেয়র উপর pবn েলেখাঃ 
(১৫০০ েথেক ২০০০ শেbর মেধয্) 

25×1 = 25

(a) Sat Kāryavāda versus Asat Kāryavāda
সৎকাযর্বাদ বনাম অসৎ-কাযর্বাদ 

(b) ‘Pramāṅa’ in Indian Philosophy  
ভারতীয় দশর্েন ‘pমাণ’ 
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(c) The concept of Vaiśeṣika ‘Paramāṅu Vāda’
�বেশিষক মেত পরমাণুবাদ 

(d) Doctrine of Māyā in Advaita Vedānta.
অৈdত েবদাn মেত মায়ার srপ। 

 OR / অথবা 
7. Write an essay on any one of the following topics of Western Philosophy: 

(Within 1500 to 2000 words) 

পাůাতয্ দশর্েনর িনmিলিখত িবষয়gিলর মেধয্ েয-েকােনা একিট িবষেয়র উপর pবn েলেখাঃ 
(১৫০০ েথেক ২০০০ শেbর মেধয্) 

25×1 = 25

(a) Empiricist view of Knowledge 
jানতtt সmেকর্ অিভjতাবাদীেদর মতবাদ 

(b) Place of God in the Philosophy of Descartes and Spinoza
 েদকাতর্ ও িsেনাজার দশর্েন ঈƬর 

(c) Kantian notion of space and time
কােnর েদশকাল ধারণা 

(d) Entailment theory versus constant conjunction theory.
pসিk-তtt বনাম সতত সংেযাগবাদ। 

  
 N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp 

to their own respective colleges on the same day / date of examination within 1 hour after 
end of exam. University / College authorities will not be held responsible for wrong 
submission (at in proper address). Students are strongly advised not to submit multiple 
copies of the same answer script.  

 
——×—— 
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WEST BENGAL STATE UNIVERSITY 

B.Sc. Honours Part-III Examination, 2021 

MATHEMATICS 

PAPER: MTMA-VIII-A 

Time Allotted: 2 Hours Full Marks: 50 
The figures in the margin indicate full marks. 

Candidates should answer in their own words and adhere to the word limit as practicable. 
All symbols are of usual significance. 

 GROUP-A 
SECTION-I 

(LINEAR ALGEBRA) 
 Answer any one question from the following 10×1 = 10

1.  (a) Prove that a non-empty subset W of a vector space V over a field F is a subspace 
of V if and only if  
 (i) WWW ⇒,  
and  (ii) WcFcW ⇒, . 

3

(b) Prove that the mapping 23: RRT  given by ),(),,( cbcacbaT  is linear. 
Describe TT Im,ker  and find the rank and nullity of T. 

5

(c) If 23: RRT  given by )2,(),,( cbacacbaT  then find Tker . 2

  
2.  (a) Define dimension of a vector space. Let V be a vector space of dimension n over 

a field F. Prove that any subset of n vectors of V that generate V is a basis of V. 
2

(b) Let V and W be two linear spaces over a field F and },....,,{ 21 nxxxB  be a 
basis for V. Prove that for any n elements ),.....,2,1( nii  of W, there exists a 
unique linear transformation WVT :  such that nixT ii ,....,1,)( . 

4

(c) Find the linear transformation 33: RRT  if 
 )4,8,7()1,1,1(,)6,5,1()1,1,0(,)4,3,2()0,0,1( TTT . 
Is T invertible? Justify your answer. 

4

  

 SECTION-II 

(MODERN ALGEBRA) 
 Answer any one question from the following 8×1 = 8

3.  (a) Define normal subgroup of a group along with an example of it. 3

(b) Show that ),(,),( QQ  are non-isomorphic. 3
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(c) Let G be a group and H be a subgroup of G such that GbaHbaba ,11 . 
Prove that H is a normal subgroup of G. 

2

  
4.  (a) If the index of a subgroup H in a group G is 2 then show that H is normal in G. 2

(b) If H is a subgroup of G then show that the subgroup I
Gg

gHg 1  is normal in G. 3

(c) Let G and G  be two groups and GG:  be an epimorphism. Show that the 
quotient group HG ≃ G , where kerH . 

3

  

 SECTION-III 
(BOOLEAN ALGEBRA) 

 Answer any one question from the following 7×1 = 7

5.  (a) Define a Boolean Algebra. Prove that )(AP  the power set of a non-empty set A 
forms a Boolean Algebra with respect to the set union, intersection and 
complementation. 

4

(b) In a Boolean Algebra B, show that 
(i) babaa  
(ii) 0))()()(( babababa . 

3

  
6.  (a) Let cabcbabcaabcf . Convert the given Boolean function into its 

conjunctive normal form (cnf). 
3

(b) A committee of three persons decides proposals by a majority of votes. Each 
member can press a button to cast his vote. If one member has a voting weight 1 
and the other have weights 2, 2 respectively. Design a simple circuit so that light 
will glow when a majority of votes is cast in favour of proposal. 

4

  

 GROUP-B 
(DIFFERENTIAL EQUATION-III) 

 Answer any one question from the following 15×1 = 15

7.  (a) Solve the equation 0)1(4)1( 2
2

2
yx

dx
dyx

dx
yd   in series about the ordinary 

point 1x . 

5

(b) State the convolution theorem on Laplace transform and use this to find the 

inverse of Laplace transform of  
152

1
2 ss

. 

5

(c) Using Laplace transform solve  0)1()0(when,3
2

2
xxe

dt
dx

dt
xd t . 5
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8.  (a) Obtain the series solution of the equation xy
dx

yd
2

2
, near the ordinary 

point 0x . 

5

(b) From the definition, find the Laplace transform of the function  f  given by 

 
⎩
⎨
⎧

1if

10if
)(

te

tt
tf t  

5

(c) Find the inverse Laplace transform )(tF  of 
)52)(1(

35)( 2 ppp
ppf . 5

  

 GROUP-C 
(TENSOR CALCULUS) 

 Answer any one question from the following 10×1 = 10

9.  (a) Show that the determinant of a tensor of type (1, 1) is an invariant. 4

(b) If the relation 0ji
j va  holds for any arbitrary contravariant vector jv , show 

that 0i
ja . 

3

(c) Define unit vector. When a contravariant and covariant vector called null vector? 1+1+1
  

10.(a) Prove that )(log g
xji

i
j

⎭
⎬
⎫

⎩
⎨
⎧

, where || ijgg . 4

(b) If ijA  is a skew-symmetric tensor, show that )(1
,

ij
i

ij
i Ag

xg
A . 3

(c) The line element of a three dimensional Riemannian space is 

 232221212 )()()()( dxdxxdxds  

Calculate 
⎭
⎬
⎫

⎩
⎨
⎧

22
1

. 

3

  
 N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp 

to their own respective colleges on the same day / date of examination within 1 hour after 
end of exam. University / College authorities will not be held responsible for wrong 
submission (at in proper address). Students are strongly advised not to submit multiple 
copies of the same answer script.  

  
 

——×—— 
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WEST BENGAL STATE UNIVERSITY 

B.A. Honours Part-III Examination, 2021  

HISTORY 
PAPER: HISA-VIII 

Time Allotted: 2 Hours Full Marks: 50 

The figures in the margin indicate full marks. pািnক সীমার মধ°s সংখ°ািট পূণ�মান িনেদ�শ কের।  
Candidates should answer in their own words পরীkাথ�ীরা িনেজর ভাষায় যথা সmব শbসীমার মেধ° 
and adhere to the word limit as practicable. উtর কিরেব। 

 GROUP-A / িবভাগ-ক 

1. Answer any two questions from the following: 
িনmিলিখত েয-েকােনা dিট  pেűর উtর দাওঃ  

5×2 = 10

(a) What is meant by ‘Tribute System’? 
‘নজরানা pথা’ বলেত িক েবােঝা ? 

(b) Write a short note on ‘Canton Trade’. 
‘ক°াnন বািণজ°’ সmেক� একিট সংিkp টীকা েলেখা। 

(c) What was the significance of the ‘Hundred Days’ Reform in China? 
চীেনর ‘শত িদবেসর’ সংsােরর তাৎপয� কী িছল ? 

 

(d) What were the chief features of the Boxer Movement? 
বkার িবেdােহর মুখ° �বিশŶ°gিল িক িছল ? 

(e) Briefly discuss the background of the ‘May Fourth Movement’. 
‘েম েফাথ�’ আেnালেনর েpkাপট সংেkেপ আেলাচনা কেরা। 

(f) Write a short note on the “White Lotus Society”. 
‘েƬতপd সিমিত’ সmেক� একিট সংিkp টীকা েলেখা। 

(g) Write a note on the Treaty of Shimonoseki. 
‘িসেমােনােসিক’র cিk সmেn একিট টীকা েলেখা। 

(h) Analyse the background of the Washington Conference (1921-22). 
ওয়ািশংটন সেmলন (১৯২১-২২) এর েpkাপট িবেųষণ কেরা । 

  

 GROUP-B / িবভাগ-খ 

 Answer any two questions from the following
িনmিলিখত েয-েকােনা dিট  pেűর উtর দাও 

20×2 = 40

2. “It is not without good reason that China was sometimes described as a ‘Gentry 
State’.” — Explain. 
‘‘যেথŶ কারণ না থাকেল চীনেক কখনও  ‘েজিn রাŷ’ বলা হেতা না।’’ —  ব°াখ°া কেরা।

20
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3. Do you think that British mercantile and industrial interests played a role in the 

outbreak of the Opium War? Was the Opium question an additional issue in the 
Opium War? 
tিম িক মেন কেরা েয আিফম যুেd িbিটশেদর বািণিজ°ক ও িশlগত sােথ�র েকােনা ɛিমকা 
িছল ? এই যুেd আিফম-সংkাn pűিট িক অিতিরk িবষয় হেয় দাঁিড়েয়িছল ?  

15+5

  
4. Analyse the socio-economic causes responsible for the origin of the Taiping 

Rebellion. What was the significance of this rebellion in the political history of 
China? 
তাইিপং িবেdােহর সূtপােতর জন° আথ�-সামািজক কারণgিল িবেųষণ কেরা। চীেনর 
রাজৈনিতক ইিতহােস এই িবেdােহর grt িক িছল ? 

20

  
5. Discuss the nature and the limitation of the Self Strengthening Movement in 

China.  
চীেন আtশিk আেnালেনর pkিত ও সীমাবdতা আেলাচনা কেরা। 

20

  
6. Discuss the ideological background of the Republican Revolution of 1911. What 

was the role of Sun-Yat-Sen in this Revolution?  
১৯১১-এর গণpজাতntী িবpেবর আদশ�গত পটɛিম আেলাচনা কেরা। এই িবpেব সান ইয়াৎ 
েসেনর ɛিমকা িক িছল ? 

10+10

  
7. To what extent was the Merchant class responsible for the collapse of the social 

structure of Tokugawa Japan? 
েটাkগাওয়া জাপােনর সামািজক কাঠােমা েভেঙ পড়ার জন° বিণক েËিণ কতটা দায়ী িছল ? 

20

  
8. Discuss the salient features of Japan’s Constitution of 1889. How would you 

define its character?  
১৮৮৯ সােলর জাপােনর সংিবধােনর উেlখেযাগ° �বিশŶ°gিল আেলাচনা কেরা। এই 
সংিবধােনর pkিত tিম িকভােব িনধ�ারণ করেব ?  

12+8

  
9. Analyse the pattern and the characteristics of Japanese economic growth in the 

post Meiji Restoration phase with special reference to the role of private 
enterprise.  
েমইজী পুনঃsাপেনর উtরপেব� ব°িkগত উেদ°ােগর ɛিমকার ওপর িবেশষ grt িদেয় 
জাপােনর অথ�ৈনিতক িবকােশর কাঠােমা ও �বিশŶ°gিল িবেųষণ কেরা। 

20

  
10. Discuss the reasons and reactions of Japanese takeover of Manchuria in 1931-32.  

১৯৩১-৩২ এ জাপান কt�ক মাcিরয়া অিধgহেণর কারণ এবং pিতিkয়া আেলাচনা কেরা। 
20

  
 N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp 

to their own respective colleges on the same day / date of examination within 1 hour after 
end of exam. University / College authorities will not be held responsible for wrong 
submission (at in proper address). Students are strongly advised not to submit multiple 
copies of the same answer script.  

 ——×—— 
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WEST BENGAL STATE UNIVERSITY 

B.A. Honours Part-III Examination, 2021  

ENGLISH 

PAPER: ENGA-VIII 

Time Allotted: 2 Hours Full Marks: 50 

The figures in the margin indicate full marks.  

Candidates should answer in their own words and adhere to the word limit as practicable. 

Candidates are required to answer Question No.1 compulsorily and choose one Option from Option-I 

(Indian Writing in English) and Option-II (American Literature). 

The candidates should clearly mention the correct option on their respective answer scripts  

Indian Writing in English OR American Literature. 

 

1. Answer any two questions from the following in brief: 5×2 = 10 

(a) Define the terms ‗Signifier‘ and ‗Signified‘.  

(b) Explain the difference between Modernism and Post-modernism.  

(c) Write a note on the relationship between ‗Base‘ and ‗Superstructure‘.  

(d) What is meant by ‗gynocriticism‘?  

(e) Define the terms ‗centre‘ and ‗margin‘.  

(f) What is ‗mimicry‘ as defined by Post-Colonial criticism?  

   

 OPTION-I 

(Indian Writing in English) 

  GROUP-A 

 

 Answer any two questions from the following  15×2 = 30 

2. Answer any one question from the following in about 500 words: 15×1=15 

  (a) Critically comment on the symbols and images used by Jayanta Mahapatra in his 

poem Hunger. 

 

(b) Discuss how Sarojini Naidu‘s poem Caprice explores the themes of abandonment 

and desertion. 

 

(c) Discuss the theme of futility in Kamala Das‘ poem Love.  

(d) What is the significance of journey in Nissim Ezekiel‘s poem Enterprise?  

   

3. Answer any one question from the following in about 500 words: 15×1=15 

 (a) Analyse why the marriage between Ramaswamy and Madeleine fall apart in Raja 

Rao‘s novel The Serpent and the Rope. 

 

(b) Comment on the title of Raja Rao‘s The Serpent and the Rope.  

(c) Discuss The Shadow Lines as a partition novel.  

(d) Analyse the role of memory in Amitav Ghosh‘s novel The Shadow Lines.  
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4. Answer any one question from the following in about 500 words: 15×1=15 

 (a) How does Mulk Raj Anand depict child psychology in The Lost Child?  

(b) Discuss the title of the short story A Horse and Two Goats.  

(c) Is The Accompanist by Anita Desai an allegory? Give reasons for your answer.  

(d) How does Salman Rushdie‘s Chekov and Zulu deal with the pervading effect of the 

Western culture on Eastern people? 

 

   

5. Answer any one question from the following in about 500 words: 15×1=15 

 (a) Critically analyse the relationship between the siblings Tara and Chandan in Mahesh  

Dattani‘s play Tara. 

 

(b) Show how Dattani uses stagecraft to depict variations in time and space in Tara.  

(c) Analyse the character of Yassin in Currimbhoy‘s  The Refugee.  

(d) Discuss the significance of the title in Currimbhoy‘s The Refugee.  

   

 GROUP-B  

 Answer any two questions from the following  5×2 = 10 

6. Answer any one question from the following in about 200 words: 5×1=5 

 (a) And Flora gave the lotus, ―rose red‖ dyed, 

And ―lily-white‖–the queenliest flower that blows. 

 

(b) You know the earth contains 

You murmur in my ear 

This is pure transport. 

 

(c) We noticed nothing as we went, 

A straggling crowd of little hope, 

Ignoring what the thunder meant. 

 

(d) The mighty perish in their might, 

The stain survive the slayer. 

 

   

7. Answer any one question from the following in about 200 words: 5×1=5 

 (a) Discuss in brief Raja Rao‘s treatment of illusion and reality in The Serpent and the 
Rope. 

 

(b) Briefly analyse the character of Savithri in The Serpent and the Rope.  

(c) Comment briefly on the character of Thamma in The Shadow Lines.  

(d) Briefly comment on the narrator‘s relation with his cousin in The Shadow Lines.  

   

8. Answer any one question from the following in about 200 words: 5×1=5 

 (a) Comment briefly on the ending of ‗The Lost Child.‘  

(b) Briefly bring out the character of the American Businessman in ‗A Horse and Two 

Goats‘. 

 

(c) Explain with reference to the context: ―Does a mortal refuse God? It made me smile 
to think anyone could be such a fool.‖ 

 

(d) What is the significance of the nicknames of Chekov and Zulu?  
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9. Answer any one question from the following in about 200 words: 5×1=5 

 (a) Explain with reference to the context: ―Forgive me, Tara. Forgive me for making it 
my tragedy.‖ 

 

(b) Briefly comment on the role of Dr. Thakkar in Tara.  

(c) Explain with reference to the context: ―You‘re welcome. As friends and neighbours, 

you‘re welcome.‖ 

 

(d) Briefly analyse the role of Mita in Asif Currimbhoy‘s The Refugee.  

   

 OPTION-II 

(American Literature) 

GROUP-A 

 

 Answer any two questions from the following  15×2 = 30 

2. Answer any one question from the following in about 500 words: 15×1=15 

 (a) Discuss Walt Whitman‘s treatment of nature in ―Crossing Brooklyn Ferry.‖  

(b) Analyse the poem ‗somewhere i never travelled‘ by E.E. Cummings, focusing on the 
metaphors used throughout. 

 

(c) Show how Emily Dickinson presents Death in her poem, ‗Because I could not stop 

for Death.‖ 

 

(d) Critically appreciate Sylvia Plath‘s poem, ‗Mirror‘.  

   

3. Answer any one question from the following in about 500 words: 15×1=15 

 (a) Comment on the significance and appropriateness of the title The Great Gatsby.  

(b) What is the role played by Nick Carraway in The Great Gatsby? How do his qualities 
as a character affect his narration? 

 

(c) How does Alice Walker portray human relationships in The Color Purple?  

(d) Critically analyse The Color Purple as an epistolary novel.  

   

4. Answer any one question from the following in about 500 words: 15×1=15 

 (a) How does Hawthorne show in his story, ‗The Ambitious Guest‘, the futility of human 

aspirations? 

 

(b)  Write a brief note on Montressor‘s character in ‗The Cask of Amontillado‘.  

(c) Critically analyse of O‘ Henry‘s normative technique in ‗The Cactus‘.  

(d) How appropriate is the title of Kate Chopin‘s story, ‗Regret‘? Answer with close 
reference to the text. 

 

   

5. Answer any one question from the following in about 500 words: 15×1=15 

 (a) How has Arthur Miller portrayed the character of Willy Loman in Death of a 

Salesman ? 

 

(b) Critically analyse Death of a Salesman as a modern tragedy.  
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 GROUP-B  

 Answer any two questions from the following  5×2 = 10 

6. Explain and annotate any one from the following: 5×1=5 

 (a) And lonely as it is, that loneliness 

Will be more lonely ere it will be less— 

 

(b) Whatever I see I swallow immediately 

Just as it is, unmisted by love or dislike. 

 

(c) I heard the singing of the Mississippi when Abe Lincoln went down to 

New Orleans, and I‘ve seen its muddy bosom turn all golden in the sunset. 

 

   

7. Answer briefly any one question from the following: 5×1=5 

 (a) What rumours have been told about Gatsby? Why does Fitzgerald use rumours rather 
than facts? 

 

(b) Comment on Fitzgerald‘s depiction of the ‗valley of ashes‘ in The Great Gatsby.  

(c) Narrate the circumstances leading Celie to start her own business.  

(d) In The Color Purple, why does Celie say that God ‗must be sleep‘? What does she 

mean? 

 

   

8. Answer any one question from the following: 5×1=5 

 (a) ‗For the half of a century no mortal has disturbed them. In pace requiescat!‘ Locate 
and annotate. 

 

(b) What is the huge mistake made by Trysdale in ‗The Cactus‘? When does he realize 

it? 

 

(c) ‗She cried like a man, with sobs that seemed to tear her very soul‘. Locate and 
explain. 

 

   

9. Answer any one question from the following: 5×1=5 

 (a) Explain: ‗Nothing is planted. I don‘t  have a thing in the ground‘.  

(b) ‗A salesman is got to dream, boy, it comes with the territory.‘ Explain.  

   

 N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp to 

their own respective colleges on the same day / date of examination within 1 hour after end of 

exam. University / College authorities will not be held responsible for wrong submission (at in 

proper address). Students are strongly advised not to submit multiple copies of the same 

answer script.  

 

 
——×—— 
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WEST BENGAL STATE UNIVERSITY 

B.A./B.Sc. Honours Part-III Examination, 2021  

 ECONOMICS 
PAPER: ECOA-VIII 

INDIAN ECONOMIC HISTORY 

Time Allotted: 1 Hour Full Marks: 25 

The figures in the margin indicate full marks. pািnক সীমার মধ°s সংখ°ািট পূণ�মান িনেদ�শ কের।  
Candidates should answer in their own words পরীkাথ�ীরা িনেজর ভাষায় যথা সmব শbসীমার মেধ° 
and adhere to the word limit as practicable. উtর কিরেব। 

1. Answer any one question from the following:
িনmিলিখত �য-�কােনা একিট  pেűর উtর দাওঃ 

15×1 = 15

(a) What are the objectives of Permanent Settlement in British India? What are its 
features? How far it helped India’s agricultural development? 
িbিটশ ভারেত িচরsায়ী বেnাবs pথার pধান উেdশ°gিল িক িক ? এর pধান �বিশŶ°gিল িক িক ? 
ভারতীয় kিষর উnয়েন এই ব°বsা িক পিরমাণ সাহায° কেরিছল ? 

4+3+8

(b) Discuss the major features of the policy of discriminating protection followed in 
India in the interwar period and analyse how this policy contributed to the 
expansion of Indian industries. 
pথম ও িdতীয় িবƬযুেdর অnব�t�ী সমেয় ভারেত অনুসৃত �বষম°মূলক সংরkণ নীিতর pধান 
�বিশŶ°gিল আেলাচনা কেরা এবং ভারতীয় িশেlর সmpসারেণ এই নীিতিট িকভােব সহায়তা কেরিছল 
িবেųষণ কেরা। 

10+5

  
2. Write short notes on any two of the following: 

িনmিলিখত �য-�কােনা dিট  িবষেয়র উপর সংিkp  টীকা �লেখাঃ 
5×2 = 10

(a) Commercialisation of Indian Agriculture under British Rule 
িbিটশ শাসনকােল ভারেতর kিষর বািণজ°করণ 

(b) New Guarantee System 
নtন গ°ারািn ব°বsা 

(c) Mahalwari system 
মহলওয়াির ব°বsা 

(d) Economic effects of ‘Economic Drain’. 
‘অথ�ৈনিতক িনŴাশেনর’ অথ�ৈনিতক pভাবসমূহ। 

 N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp 
to their own respective colleges on the same day / date of examination within 1 hour after 
end of exam. University / College authorities will not be held responsible for wrong 
submission (at in proper address). Students are strongly advised not to submit multiple 
copies of the same answer script.  

  
 ——×—— 
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WEST BENGAL STATE UNIVERSITY 

B.Sc. Honours Part-III Examination, 2021 

ZOOLOGY 

PAPER: ZOOA-VIII 

Time Allotted: 2 Hours Full Marks: 50 

The figures in the margin indicate full marks. 

Candidates should answer in their own words and adhere to the word limit as practicable. 
All symbols are of usual significance. 

1. Answer any five questions from the following: 2×5 = 10 

(a) What is pathogen?  

(b) What is nauptial flight?   

(c) What causes the lusture of silk thread?  

(d) Name two hormones used for induced breeding in fish.  

(e) Distinguish between ‘phunki’ and ‘ari’ lac.  

(f) What is photochemical smog?   

(g) What is green house gas?  

(h) Define toxin.  

(i) What is arsenicosis?   

(j) Differentiate between definitive host and intermediate host.  

(k) What are extraembryonic membranes?   

(l) What is meant by isolecithal eggs? Cite example.  

(m) What are the different strains of Dengue virus?   

(n) Name the Larval form of Wuchereria bancrofti and the disease caused by them.  

(o) Differentiate between benign and malignant malaria.  

(p) What do you mean by fate map?  

   

2. Answer any three questions from the following: 5×3 = 15 

(a) Describe the formation of blastopore in Xenopus and mention its significance. 5 

(b) What are Hox genes? Discuss the process of cleavage in a telolecithal egg. 1+4 

(c) What do you mean by haematopoetic stem cells? State their functions. 2+3 

(d) Describe the process of development of brain in chick embryo.  5 

(e) Write short notes on any two of the following: 

(i) Amnion and Allantois 

(ii) Neural crest 

(iii) Primitive streak 

(iv) Somites. 

2
2

1 +2
2

1  
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3. Answer any one question from the following: 5×1 = 5 

(a) Define biomagnification with example. Distinguish between in vivo and in vitro 

toxicity test. 

2+3 

(b) What is lethal dose? Discuss chronic and acute toxicity with example. 2+3 

(c) Write short notes on: 

(i) Role of liver in detoxification in mechanism 

(ii) Main causes of soil pollution 

2
2

1 +2
2

1  

(d) What is eutrophication? State the process. Mention two examples of 

eutrophication in India. 

1+3+1 

(e) Name two carcinogenic air pollutants. What are their remedies you know? 2+3 

   

4. Answer any one question from the following: 5×1 = 5 

(a) Describe the trophozoite stage of Plasmodium vivax. Differentiate between male 

gametocyte and female gametocyte of Plasmodium vivax. 

3+2 

(b) What is periodicity? Describe the phenomenon in case of the disease filariasis. 2+3 

(c) Differentiate between soft tick and hard tick. Discuss two important tick borne 

diseases in human. 

2+3 

(d) Mention the characteristic features of Dengue virus. What is DHF? Write down 

the symptoms. 

2+1+2 

   

5. Answer any three questions from the following: 5×3 = 15 

(a) What is diapause? Discuss symptoms and control measures of pebrine disease of 

silkworm. 
2+1

2

1 +1
2

1  

(b) Name two indigenous sheep breads famous for superior carpet wool. What are 

stick Lac and brood Lac? Mention the composition of Lac. 

2+2+1 

(c) Explain the significance of deep-litter system of poultry farming. State the 

examples of Asian breed of fowl. 

3+2 

(d) Name two brackish water prawn species cultured in India with their criteria for 

selection. What is estuary? Cite the scientific name of two estuarine fishes. 

2+1+2 

(e) Describe Langstroth box and its advantages. Write the names of causative agents 

of one bacterial and one fungal disease of honey bee. 

4+1 

(f) What is hatching hapa? Give scientific names of two common minor carps. What 

are the environmental factors influencing hatching? 

1+2+2 

(g) What are fibroin and sericine? Write their composition. What is bivoltine silk 

moth means? 

2+2+1 

(h) Write short notes on: 

(i) Bee dance 

(ii) Problems of wild prawn seed collection in Sundarban area. 

2
2

1 +2
2

1  

(i) Name four dairy products. Discuss breed characteristics of high yielding dairy 

cow. 

2+3 

(j) Distinguish between penaeid and palamnoid prawns. Discuss factors determining 

success of marine prawn farming.  

2+3 

   

 N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp 

to their own respective colleges on the same day / date of examination within 1 hour after 

end of exam. University / College authorities will not be held responsible for wrong 

submission (at in proper address). Students are strongly advised not to submit multiple 

copies of the same answer script.  

 

 
——×—— 
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WEST BENGAL STATE UNIVERSITY 

B.A. Honours Part-III Examination, 2021  

বাংলা 
অŶম পt 

সময় : ২ ঘĊা পূণ�মান : ৫০ 

pািnক সীমার মধ°s সংখ°ািট পূণ�মান িনেদ�শ কের।  
পরীkাথ�ীরা িনেজর ভাষায় যথা সmব শbসীমার মেধ° উtর কিরেব। 

 ১নং েথেক ৫নং-এর মেধ° েয-েকােনা dিট pű এবং ৬নং েথেক ৯নং পয�n pű িনেদ�শ অনুসাের 
১। িনmিলিখত েয-েকােনা একিট  pেűর উtর দাওঃ ১৫×১ = ১৫

(ক) ‘েমঘদূত’ ও ‘kমারসmব’ কাব° অবলmেন কািলদােসর কিব pিতভার পিরচয় দাও। ৭+৮
(খ) ভবɛিতর নাট°kিতt িবষেয় আেলাচনা কের, বাংলা সািহেত° তারঁ grt কতখািন তা েলেখা। ৮+৭ 
(গ) শূdেকর ‘মৃcকিটক’-েক ‘pকরণ’ আখ°া েদওয়ার তাৎপয� ব°াখ°া কের রচনািটর নামকরেণর সাথ�কতা 

িবচার কেরা। 
৭+৮ 

  
২। িনmিলিখত েয-েকােনা একিট  pেűর উtর দাওঃ ১৫×১ = ১৫

(ক) েশk ্ পীয়রীয় সেনেটর িবষয়গত ও আিñকগত �বিশŶ° উেlখ কের একিট সংিkp িনবn রচনা কেরা। ৮+৭ 
(খ) ‘েশলী েরামািnক যুেগর েËŸ কিব’ — এই মnেব°র যথাথ�তা িবচার কেরা। ১৫
(গ) েকান ্  েকান  ্ �বিশেŶ°র জন° ‘বান�াড� শ’ আধিুনক যুেগর েËŸ নাট°কার ? আেলাচনা কেরা। ১৫

  
৩। িনmিলিখত েয-েকােনা একিট  pেűর উtর দাওঃ ১৫×১ = ১৫

(ক) িহnী উপন°াস সািহেত° েpমচেnর sান িনণ�য় কেরা। ১৫
(খ) েছাটগlকার িহেসেব ফণীƬরনাথ েরণুর kিতেtর পিরচয় দাও। ১৫
(গ) মহােদবী বম�ার কাব°gngিলর পিরচয় িদেয় তারঁ কিব kিতt বণ�না কেরা। ১৫

  
৪। িনmিলিখত েয-েকােনা একিট  pেűর উtর দাওঃ ১৫×১ = ১৫

(ক) ‘‘এই অিতিরk বstই কােব°র আtা’’ — অিতিরk বstিট কী ? কীভােব তা কােব°র আtা হেয় উেঠেছ, 
বুিঝেয় বেলা। 

১৫

(খ) ‘রস হেc িনেজর আনnময় সিmেতর আsাদ-rপ একিট ব°াপার’ — রেসর srপ ব°াখ°ায় উিkিট 
কতখািন যথাথ�, আেলাচনা কেরা। 

১৫

(গ) ‘‘রীিতরাtা কাব°স°’’ — এই মnব°িটর ব°াখ°া কেরা এবং কােব°র আtা িবচাের রীিতর gহণেযাগ°তা 
কতখািন তা িবচার কেরা। 

১৫

  
৫। িনmিলিখত েয-েকােনা একিট  pেűর উtর দাওঃ ১৫×১ = ১৫

(ক) ‘‘বstত বিহঃpkিত এবং মানব চিরt মানুেষর hদেয়র মেধ° অনুkণ েয আকার ধারণ কিরেতেছ, েয 
সংগীত Ƥিনত কিরয়া tিলেতেছ, ভাষা রিচত েসই িচt এবং গানই সািহত°।’’ — কীভােব বাইেরর 
জগৎ hদেয়র মেধ° pেবশ কের আর একটা জগৎ হেয় উঠেছ এবং কীভােব তা সািহত° হেয় উঠেছ, 
রবীndনােথর অনুসরেণ তা ব°াখ°া কেরা। 

১৫
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(খ) ‘‘মন pkিতর আরিশ নেহ, সািহত°ও pkিতর আরিশ নেহ।’’ — মন ও সািহত° েকন pkিতর আরিশ 
নয়, রবীndনােথর ‘সািহেত°র িবচারক’ pবn অবলmেন িবষয়িট বিুঝেয় দাও। 

১৫

(গ) আধুিনক কিব বিলয়ােছনঃ “Truth is beauty, beauty is truth” আধুিনক কিব েক ? তাঁর pkত 
উিkিট কী ? েলখকkত rপাnর কীভােব pবেn ব°াখ°াত হেয়েছ, তা েদখাও। 

১+২+১২

  
৬। িনmিলিখত েয-েকােনা একিট  িবষেয় সংেkেপ আেলাচনা কেরাঃ ৫×১ = ৫

(ক) ঋtসংহার 
(খ) অিভjানশknলম  ্ 
(গ) হষ�চিরত 
(ঘ) গীতেগািবnম ্  
(ঙ) কাদmরী। 

  
৭। িনmিলিখত েয-েকােনা একিট  িবষেয় সংেkেপ আেলাচনা কেরাঃ ৫×১ = ৫

(ক) এ েটল অফ ɉ িসিটজ 
(খ) প°ারাডাইস লs 
(গ) ওড ্  ɉ এ নাইিটেñল  ্ 
(ঘ) ম°াকেবথ 
(ঙ) দ° ওেয়sল°াč। 

  
৮। িনmিলিখত েয-েকােনা একিট  িবষেয় সংেkেপ আেলাচনা কেরাঃ ৫×১ = ৫

(ক) বেড় ঘর কী েবিট 
(খ) ভারত dদ�শা 
(গ) অনািমকা 
(ঘ) kkরমুtা 
(ঙ) পlবাবু েরাড 
(চ) বñদশ�ন। 

  
৯। িনmিলিখত েয-েকােনা একিট  টীকা েলেখাঃ ৫×১ = ৫

(ক) sায়ীভাব। 
(খ) নবরস। 
(গ) কােব°র জগৎ অেলৗিকক মায়ার জগৎ। 

  
 N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp 

to their own respective colleges on the same day / date of examination within 1 hour after 
end of exam. University / College authorities will not be held responsible for wrong 
submission (at in proper address). Students are strongly advised not to submit multiple 
copies of the same answer script.  
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WEST BENGAL STATE UNIVERSITY 

B.Sc. Honours Part-III Examination, 2021  

BOTANY 

PAPER: BOTA-VIII 

Time Allotted: 2 Hours Full Marks: 50 

The figures in the margin indicate full marks 

Candidates should answer in their own words and adhere to the word limit as practicable.. 
All symbols are of usual significance. 

 GROUP-A  

1. Answer the following in brief:  

(a) What is the relationship between resolution power of a microscope and 

wavelength of the illumination? 

1 

(b) What is CEN-DNA and CENP? 1+1 

(c) Define ribozyme. Cite one example. 1+1 

 OR  

2. Answer any one questions from the following: 5×1 = 5 

(a) Briefly describe the ultra structure of nuclear pore complex. 5 

(b) State the similarities and differences between SEM and TEM. Give two 

advantages of electron microscopy over light microscopy. 

3+2 

(c) Briefly describe the process of ribosome biogenesis in eukaryotes. 5 

   

3. Answer any one question from the following: 10×1 = 10 

(a) Discuss the chromatin organization and DNA packaging in eukaryotic cell 

with diagram. Mention the types of heterochromatin with example. 

(4+3)+3 

(b) Distinguish between meiosis I and meiosis II stage. What is Kinetochore? 

Briefly describe the mechanism of movement of chromosomes during 

anaphase. 

4+1+5 

   

 GROUP-B  

4. Answer the following in brief:  

(a) What is Epistasis? 1 

(b) What is genomics? 1 

(c) What is heteromorphic chromosomal sex determination? Name one plant with 

such type of sex determination. 

1+1 
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(d) What are Ac-ds elements? 2 

(e) Why lac-operon is regarded as an inducible operon? 2 

(f) Differentiate between dominance and co-dominance. 2 

   

5. Answer any two questions from the following: 5×2 = 10 

(a) What is chiasma? Describe the molecular mechanism of crossing-over with 

suitable diagram. 

1+4 

(b) What is natural inheritance? Explain that the natural inheritance is controlled 

by organeller DNA. 

1+4 

(c) What are allopolyploids? How do they differ from autopolyploids. Explain 

with suitable examples. 

1+2+2 

(d) Describe the meiotic behavior of reciprocal translocation with diagram. 5 

(e) What are sex-linked inheritance? Explain with suitable examples. 1+4 

 OR  

6. Answer any one questions from the following: 10×1 = 10 

(a) What is central dogma? Briefly describe the mechanisms of initiation and 

termination process of transcription of RNA in Prokaryotes. 

2+4+4 

(b) What are Okazaki fragments? Why such fragments are formed? Briefly discuss 

the roles played by DNA polymerase I and DNA polymerase III during DNA 

replication. 

2+2+6 

(c) What is genetic code? What is the reason for degeneracy of genetic code? 

Briefly describe the procedure for deciphering of genetic code. 

2+2+6 

(d) What do you mean by Frame-shift mutation? What is Point mutation? Name 

one chemical and one physical mutagen. Mention the role of alkalyting agents 

in mutation. Mention the role of alkalyting agents in mutation. What are base 

analogues? 

1+1+2+4+2 

(e) A heterozygous plant having genes Aa, Bb, Cc was test crossed and the 

following progenics found.— 

Abc = 60 

aBc = 04 

ABC = 45 

abC = 365 

AbC = 06 

ABc = 402 

abc = 48 

aBC = 70 

Determine linear order of genes and calculate map distances between genes. 

Determine the Co-efficient of Co-incidence and Interference. 

2+6+1+1 
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GROUP-C 

 

7. Answer the following in brief:  

(a) What is the significance of male sterility in hybridization programme? 2 

(b) What is the significance of back-cross method in plant breeding? 1 

(c) What is quantitative and qualitative variable? Give example. 2 

 
OR 

 

8. Answer any one question from the following: 5×1 = 5 

(a) State the Hardy-Weinberg equilibrium. In a Pea garden number of pure tall, 

hybrid tall and pure dwarf plants are 30, 50 and 20 respectively. Determine the 

frequency of dominant and recessive alleles. 

2+3 

(b) What is Hybrid vigour? Explain the genetic basis of heterosis. 1+4 

   

9. Answer any one question from the following: 10×1 = 10 

(a) Distinguish between — 

 (i) Bulk method and Pedigree method 

and  (ii) Back Cross and Test Cross. 

5+5 

(b) From a field of garden Pea plants random sampling of 13 plants were 

performed. Their height in cm is as follows — 

161,183,177,157,181,176,180,162,163,174,179,169,187. 

Calculate the mean, standard deviation and variance. 

4+4+2 

   

 N.B. : Students have to complete submission of their Answer Scripts through E-mail / 

Whatsapp to their own respective colleges on the same day / date of examination within 

1 hour after end of exam. University / College authorities will not be held responsible 

for wrong submission (at in proper address). Students are strongly advised not to 

submit multiple copies of the same answer script.  

 

   

 
——×—— 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 


